
 
 
 

      2nd chapter • The Russian October Revolution 
                            and the consequences 

Assignment: 
The war casualties inflicted on Russia were particularly severe, 
and in 1917 both army and civilian population suffered from an 
extremely bad supply situation and from hunger. Vast parts of 
the Russian population yearned for immediate peace. 
Due to this situation the Russian Tsar  had to abdicate, a 
provisional government was established and after the October 
Revolution Lenin came into power. 
What were the characteristics of Lenin’s policy and his first 
political moves? 
Describe Lenin’s political approach in relation to the First World 
War, and the economic and social policy closely connected to 
it! 
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